Model 209a Progress Hybrid

Part#K-395: Rear Heat Shield Kit
Rev. Date 8/2/2021

Parts Needed:
(1) K-395 Center panel
(2) K-395 Side panels
(2) 1/4-20 x 1/2” (installed on stove)
(2) 1/4-20 x 5/8” (installed on stove)
(4) 1/4” Washer (installed on stove)

Tools Needed:

7/16” open ended wrench
Metal shears (if rear venting)
Safety glasses & gloves

Please read all the instructions before you begin the procedure. Confirm that you have all of the
necessary tools and parts required. If you have any questions, technical support is available toll
free at 1-800-866-4344, Monday-Friday 9:00-5:00 (ET) & Saturday 9:00-12:00 (ET). Videos can
be found on our Woodstock Soapstone Co. YouTube page.

1. Using a 7/16” wrench, remove the four bolts and washers at the rear of the stove. It is
best to move the air damper to a position parallel to the hearth for ease of access.

1/2” Bolts 1/2” Bolts
Air Control parallel
to the hearth
5/8” Bolts 5/8” Bolts

N,

m Woodstock 66 Airpark Rd., West Lebanon, NH 03784
(

Phone: 1-800-866-4344
Soapstone Email: info@woodstove.com
Companv, Inc. Web: www.woodstove.com




2. Place the center panel over the air intake. If rear venting, cut out the removable “U”
shaped panel first (see image below).

The tabs of the shield will line up with the four bolt holes.

Note: The two top bolts are shorter (1/2”) and the bottom two are longer (5/8”). With the center
panel in place, replace the bolts and washers, finger tighten until all four are in place, then
tighten all four completely.

Place center panel over the air intake

Reinstall hardware to secure center shield (1/2” on top & 5/8” on bottom)

If rear venting, remove the “U” shaped panel using metal sheers



3. With the center panel secured in place, align the notches of the center and side panels and
slide down into place. The installation is now complete.

S T 8

Slide first side panel down into position

Slide the second side panel down into position. The rear heat shield
installation is now complete



